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1. Identify the figure below
C

m

A

(i) angle (ii) triangle (iii) rectangle (iv) circle (v) kite

2. In kiteOPQR, OQ and PR are diagonals. ThenOP =
Q

o

(i) RO (ii) PQ (iii)) PR (iv) QR (v) OQ

3. In kiteNOPQ, NP and OQ are diagonals. ThenOP =
Fl

N

(i) OQ (ii) NO (iii)) PQ (iv) NP (v) QN



4. In kiteHIJK, HJ and IK are diagonals. Then £ZHI) =
J

H

(i) ZJKI (ii) £HLI (iii) £ZHLK (iv) ZHKI (v) Z]JKH

5. In kite BCDE, BD and CE are diagonals. Then ZBFC =
D

B

(i) £BEC (ii) 4BCD (iii) 4DEC (iv) 4BFE (v) £4DEB

6. In kiteHIJK, HJ and IK are diagonals. ThenaJIH=
J

H

(i) AU (i) ALKH (i) AKI (iv) AKIH (v) AJKH



7. In kite ABCD, AC and BD are diagonals. Then AECB=
Cc

A

(i) ADBA (ii) AECD (iii) ADBC (iv) AEDA (v) AEBA

8. In kiteNOPQ, NP and OQ are diagonals. Then ZONR =
P

N

(i) £QRP (ii) £RPQ (iii) £ZNRQ (iv) £ZQNR (v) ZRPO

9. In kitelJKL, IK and JL are diagonals. Then £LMK] =
K

(i) £MKL (ii) £IML (iii) £JIM (iv) ZLMK (v) ZLIM



10. In kite ABCD, AC and BD are diagonals. ThenDA=
C

A

(i) AC (ii) AB (iii) BD (iv) CD (v) BC

11. In kiteDEFG, DF and EG are diagonals. ThenFG =
F

D

(i) EG (ii) DE (iii) DF (iv) EF (v) GD

12. In kiteBCDE, BD and CE are diagonals. Then ZDEB =

D

B

(i) £BFE (ii) 4BEC (iii) 4DEC (iv) 4BFC (v)

£BCD



13. In kite ABCD, AC and BD are diagonals. Then ZAED =
C

A

(i) £ABC (ii) £LAEB (iii)) £CDB (iv) 4CDA (v) 4LADB

14. In kite MNOP, MO and NP are diagonals. Then AOPM =
9]

M

(i) AONM (ii) APNM (iii) AQPM (iv) APNO (v) AQON

15. In kite ABCD, AC and BD are diagonals. Then AEDA=
C

A

(i) AECB (ii) AEBA (iii)) AECD (iv) ADBA (v) ADBC



16. In kitelJKL, IK and JL are diagonals. Then AM]I =
K

(i) AUK (i) AMKL (i) AMKJ (iv) AUl (v) AMLI

17. In kiteCDEF, CE and DF are diagonals. Then AGEF =
E

C

(i) AFDC (ii) AGED (iii) AGDC (iv) AFDE (v) AGFC



18. In kitePQRS, PR and QS are diagonals. Then £SPT =
R

P

(i) £TRQ (ii) £STR (iii) £PTS (iv) £TRS (v) ZQPT

19. In kiteMNOP, MO and NP are diagonals. Then ZQOP =
(8]

P Q N

M

(i) £PMQ (ii) £MQP (iii) £QON (iv) 4PQO (v) 4NMQ
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